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FOREWORD

The Candidates’ Items Responses Analysis Report (CIRA) in the 2018 Arabic
Language subject for the Certificate of secondary Education Examination (CSEE)
has been prepared in order to provide feedback to educational administrators,
school managers, teachers and other stakeholders about candidates’ abilities in the
Arabic Language subject.

The Certificate of Secondary Education Examination (CSEE) is a summative
evaluation which, among other things, shows the effectiveness of the educational
system in general and the educational delivery system in particular. Essentially,
the candidates’ responses to the examination questions is a strong indicator of
what the educational system was able or unable to offer to candidates in their four
years in Ordinary Level Secondary Education in the subject.

The analysis presented in this booklet is intended to enhance understanding of
candidates’ responses in Arabic Language subject. The report highlights the
factors that made the candidates score high marks in the National Examination.
These factors include; the ability to interpret the requirements of the questions,
the ability to follow instructions as well as their adequate knowledge on the
concepts related to Arabic Language. The report also highlights factors attributed
to poor performance; failure to identify the demands of the questions, the
inability to express themselves in Arabic Language and inadequate knowledge
about the concepts, principles and rules related to the subject.

The feedback provided in this report intends to enable education administrators,
school managers, teachers, candidates and other education stakeholders to
identify proper measures to improve teaching and learning in secondary schools.
Consequently, this will improve candidates’ performance in future examinations
administered by the National Examinations Council of Tanzania.

Finally, the council would like to thank the Examination Officers, Examiners and
all those who participated in the preparation and analysis of the data used in this

report.
%

Dr. Charles E. Msonde
EXECUTIVE SECRETARY



1.0

INTRODUCTION

This report is an analysis of the performance of candidates who sat for the
Certificate of Secondary Education Examination (CSEE) in the Arabic
Language subject in November 2018.

The Arabic Language paper consisted of fourteen (14) questions with sections
A, B, C and D. Candidates were supposed to answer ten (10) questions. In
sections A and B, the candidates were required to attempt all questions. The
candidates were required to choose one of the two questions in section C and
section D. Section A had one question which carried 20 marks. Section B had
seven questions, where question 4 carried 10 marks; questions 2, 3, 5, 6, 7 and 8
carried 5 marks each, making a total of 40 marks. Section C had three optional
questions, each carried 20 marks and section D had three optional questions, and
each carried 20 marks.

The analysis of the Certificate of Secondary Education Examination (CSEE) in
Arabic Language presents the requirements of each question and indicates the
expected responses from candidates’ questions. Samples obtained from
candidates’ responses are presented in order to provide a general picture of how
the candidates responded to the questions.

The rating of candidates’ performance has been grouped into 'good', 'average' or
‘poor' and is represented in different colours. In this analysis, if the performance
ranges from, 65 to 100 percent was categorized ‘good’ and is coloured green; 30
to 64 percent was categorized as ‘average’ and is coloured yellow; and 0 to 29
percent was deemed ‘poor’ and is shown by red colour. This analysis is based
on the average percentage of the candidates who scored 30 percent or above of
the total marks allocated to each question. The overall candidates’ performance
Is summarised in the Appendix.

Statistics indicate a total of 12,117 candidates sat for the Certificate of
Secondary Education Examination (CSEE) in November 2018 in Arabic
Language. Out of which, 5,816 (48.00%) candidates passed and 6,301 (52.00%)
candidates failed. In 2017, a total of 12,022 candidates sat for the Certificate of
Secondary Education Examination (CSEE). Of these 12,022 candidates, 4,773
(39.70%) candidates passed and 7,249 (60.30%) candidates failed. This implies
that the performance of candidates in the year 2018 increased by 8.30 percent
compared to the year 2017.



2.0 ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH QUESTION
2.1 SECTION A: Comprehension

This section consisted of question 1 with two parts. Candidates were required to
attempt all parts of the question. The question tested candidates’ ability to read
and comprehend the information given in the passage. The passage was about
Intelligent Animals. The question carried twenty (20) marks.

2.1.1 Question 1: Comprehension with Short Answers and Filling in the Blank
Spaces

The question instructed the candidates to read the passage and provide short
answers to the following five questions.
A) 1- Mention four intelligent animals respectively?

2- Write incidents that show the intelligence of both monkey and bear.

3- Why the elephant called an animal philosopher?

4- How many types of intelligent animals?

5- What should be the heading of this passage?
In part (b), they were given five sentences with blank spaces to be filled in with
the appropriate information given in the brackets.

The question was attempted by 12,138 (100%) candidates. A total of 1,712
(14.1%) candidates scored from 13 to 20 marks, 6,232 (51.3%) candidates
scored from 6 to 12.5 marks. Also, 4,194 (34.6%) candidates scored from 0 to
5.5 marks. This shows that the candidates’ performance in this question was
good, as seen in Figure 1.
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Figure 1: The Percentages of the Candidates’ Performance in Question 1.
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Many of the candidates performed well in this question. These candidates were
able to provide adequate responses to the five short answers and five items
given by filling in the blank spaces with correct information from the passage.
In item (1a-5), for example, one of the candidates wrote the following answer
(lilgadl Sif g6 dabill oid /s) “The heading of this passage is Intelligent
Animals”. This indicates that the candidates comprehended the text given and
had enough skills in reading for comprehension. Extract 1.1 shows a sample of a

good response.
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Extract 1.1: A sample of a good response from the candidate who provided correct
answers to the five items given and could fill in the blanks with correct
information from the passage.



However, there were some candidates who performed poorly in this question.
These candidates failed to understand the key issue in the question particularly
in part (a) due to poor language ability. As a result, many of them just picked
some words or sentences from the passage, related to the items and used them as
answers without considering the meaning and demands of the questions. In
answering item (1a-5), for example, one of the candidates wrote, ( 42k 28 5/ gic
Sl giad] (gl A bl gad) gl i8]y J3& s4) “The heading of the passage that a
scientist who observes attitude of animals in the garden says”. The correct
response was supposed to be, (<bilgall S5/ g6 dehill ods /4ic) “The heading of
this passage is “Intelligent animals™. In another item (1a-3), for example, one of
the candidates wrote, (st ddus 4 48,8 Jio 1) 4Y Olgal) cdpadd fodl) i)
“The elephant called an animal philosopher because when she entered in the
room of the zoo”. The correct answer was supposed to be, ( «isdd fdll a
3 IS 1) Gy coibel) Jily 48 eyl Gl oLg e lgpnd) dts 4 45 8 Jia 13 Y gl
(s gida ool 44 408 [jla) “The elephant called an animal philosopher, because
when she entered in the room of the zoo and felt the weather is cold, it closes
the door and when the weather became hot, it opens the door”. This response
indicates that the candidates failed to comprehend the exact meaning of the texts
due to lack of adequate vocabulary and poor mastery of the Arabic Language.
Extract 1.2 shows a sample of a poor response.



Extract 1.2

YR

- -

7j_,i~; Yol }Z-_r-*h—_b‘k'é-—é_r—"'l

-~ -
%

v

*_:-:-';-JI \5]—{ q_';é\_si_JL'i I}_J}—‘- q_s:-:/ 13t O

I:—u_; Jl—;—»\.j}i’__z_,ﬂuﬂ L)l‘}\;\}-}’ :__s"&l’n"é)

i

% =

. rd -

\, e . =" - ,- */ i @ P
IFSILS ) I s T N P 52

-{ag__rJl\__J‘—oLd,su],q_gg_),/,\j'r_;a

UWLW\ULM .-.k)'Lﬂ

=7
‘: - s :_s L 1:. I ‘-‘s"jl > i
i _,,—J./ f/—-J“—‘ QJ’\—; —1 T o L_)—-L-n-ﬂjj J——}—) hY ]/p
7o Vi e i .. .
ya

SR ¥ Vg JEArE PRI EEP N

i
SH Y15

Ul oy Sloaht @2 o cces o 2] :‘] L2
A L - ~J 1_,/

_,_;_,-r-a,.—a
C

-
» A

~ »
a Ty S T

,..ZJ oye 1 ,.«l y) A qu . \‘éf_};"' s 9 ¢ f‘“A*“*:J]

g, -
// d }/

z
s, - -

B : L,;‘JI/? Lol )21 oladls

e 5

HANNER DR RPN P €
e : - -

- Z =

RN "Jeé




_J‘T‘f/r’”J—ﬁ;_f: 2 IQQ K ‘_7\)“’ BIAREE (2

G | sy LrJ-eléj G Ny

%;fw o Cigle ;«g% e e B

-

-

= =

LL_.J, )——-DL LL:J!QDJ)_D r—dm -1

'/f,"\}fufﬁé-!jf‘j,——:-olouk _\q\ﬂ(z,

3

- 1)’,

l/ Lz __LWJ‘@) LM}J

2.2

2.2.1

23:_;; s—aig)l-/‘{l—{’\'_-’ ,—QJJL?/,-—C ':-9(5-

Extract 1.2: A sample of a poor response from a script of the candidate who just
picked some words or sentences from the passage and used them as the answers
due to poor mastery of Arabic Language.

SECTION B: Grammar

This section had seven questions and each question had five items. The
candidates were required to answer all questions. Each question carried five (5)
marks, except one question which carried ten (10) marks, thus making a total of
forty marks (40).

Question 2: Subject

This question had five items and the candidates were required to point out
subjects from the statements given. The question tested candidates’ ability to
analyse the types of subjects in sentences.



2- a) The farmer planted the cotton.
b) We sat on the chair.
c) We drink some coffee.
d) He became silent who was crying.
e) The boy read the book.

The question was attempted by 12,136 (100%) candidates and the candidates’
performance in the question was average. A total of 745 (6.1%) candidates
scored from 3.5 to 5 marks, 3,985 (32.9%) candidates scored from 1.5 to 3
marks and 7,406 (61.0%) candidates scored from O to 1 mark. The candidates’
performance is summarised in Figure 2.
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Figure 2: The Percentages of the Candidates’ Performance in Question 2.

The candidates who performed well in this question were able to point out
subjects from the statements given as required. In item (2-c), for example, one
of the candidates wrote, (o o_pli _dics pad g4 Jeldl)) “The subject is a hidden
pronoun which is supposed to be the first person plural pronoun. This shows
that the candidates were familiar with topics of the verbal sentence. Extract 2.1
is a sample of a response from the script of a candidate who performed well.



Extract 2.1
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Extract 2.1: A sample of a good response from a script of the candidate who was
able to identify the subjects of the given sentences as required.

On the other hand, there were many candidates who performed poorly in this
question because they failed to point out the subjects from the statements given
as required. Most of them were unable to identify the subject from items 2b and
2¢ whereby the subjects were pronouns. In item (2-b), for example, one of the
candidates wrote, (L« -Jeldl) “The subject is we sat” which was wrong. The
correct response was supposed to be, ( A8 UL U _pad 4/ U Juaio o 4 Joldlf
celeldl) “The subject (doer) is a connected pronoun “Naa” or the subject is
“Naa” which shows that plural subjects”. In another item (2-c), for example,
one of the candidates wrote the pronoun (&) “We” instead of ( e 34 Joldlf
CAJ ol iiws) “The subject is a hidden pronoun which is the first person
plural pronoun. This poor performance shows that, these candidates had
inadequate knowledge on verbal sentence. Extract 2.2 is a poor response by
one of the candidates.



Extract 2.2
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Extract 2.2: A sample of a poor response from a script of the candidate who
identified objects instead of subjects in items (2-a, b, ¢ and d) from given

sentences.

2.2.2 Question 3: Meaningful Sentences

This question had five items and the candidates were required to change the
following sentence (has LLS ool L/ 4l/ s d)) “The Father bought a good book
for his child” into feminine case, dual feminine case, plural of feminine case
and plural of masculine case. This question tested the ability to use the given

words in different ways in the Arabic Language.

The question was attempted by 12,137 (100%) candidates. Analysis of
performance scores showed that 11,247 (92.7%) candidates scored from 0 to 1
mark and 805 (6.6%) candidates scored from 1.5 to 3 marks. Furthermore, 85
(0.7%) candidates scored from 3.5 to 5 marks. The candidates’ performance in
this question was poor since a large number of candidates scored below

average as summarized in Figure 3.
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Figure 3: The Percentages of the Candidates’ Performance in Question 3.

The candidates who scored low marks in this question were not able to change
the given sentence into feminine case, dual feminine case, plural of feminine
case and plural of masculine case as required. Most of the candidates could not
distinguish between the two words (X&) “Boys” and (/) “Father” whereby
the correct answer was supposed to be (5% The “Mother” instead of (/.s/)
“Father”. Some of them failed to use appropriate pronouns in the sentence. In
item (3-e), for example, one of the candidates wrote, ( LS stlof 54 glf (o i
2kwa) “The mother bought a good book for his child”. The correct answer was
supposed to be, (M LS 0¥ 5% Cgtllsl) o 43l “Fathers bought a good book
for their children”. This poor performance implies that the candidates had
insufficient knowledge on pronouns and a poor mastery of the Arabic
Language. Extract 3.1 is an illustration of a poor response in the question.

11
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Extract 3.1: A sample of a poor response from a script of the candidate who was
unable to write meaningful sentences by using the instructions given.

However, there were few candidates who were able to change the given
sentence into feminine case, dual feminine case, plural of feminine case and
plural of masculine case as required. These candidates considered the
principles of pronouns in verbs and nouns. In item (3-1), for example, one of
the candidates wrote, (Mhas LLS Leiddf 548/l < 4idl) “The mother bought a good
book for her child”. These candidates had adequate knowledge on the use of
pronouns in different situations. Extract 3.2 shows a sample of such responses.

Extract 3.2
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Extract 3.2: A sample of a good response from a script of the candidate who
changed the given sentence into feminine case, dual feminine case, plural of
feminine case and plural form of masculine case as required.
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2.2.3 Question 4: Inflection

This question had five items and the candidates were required to analyse the
given underlined phrases and mention its signs of inflection. The question
tested candidates' ability to analyse given words in the sentence.

4- a) Mohamed is writing the letter to his friend.
b) The girl was at school in the morning.
c) My father bought a new car.
d) These are winners.
e) Muhammadies were sleeping.

The question was attempted by 12,135 (100%) candidates. Statistics showed
that 9,777 (80.6%) candidates scored from 0 to 2.5 marks and 1,600 (13.2%)
candidates scored from 3 to 6 marks. Furthermore, 758 (6.2%) candidates
scored from 6.5 to 10 marks. The general performance was poor since a large
number of candidates scored below average as summarised in Figure 4.
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Figure 4: The Percentages of the Candidates’ Performance in Question 4.

The analysis of candidates’ responses shows that most of the candidates were

unable to analyse given words in the sentence due to inadequate knowledge

particularly in items (4-d), (4-d) and (4-e). These candidates failed to consider

the principles of defective verbs that the subject of a nominal sentence and

predicate change when they are preceded by defective verbs, as they supposed

to be, (eusaio JlS i g £ 4940 SIS ad) “Noun of defective verbs in a nominative
13



case and predicate of defective verbs in a accusative case”. In item (4-a), for
example, one of the candidates wrote, (£s4x Jeld :(iytaa9) “Muhammadies is a
subject in a nominative case” instead of (£F#iw Ol awf :yaad “Noun of
defective verbs in nominative case”. In item (4-d), for example, one of the
candidates wrote, (&Y aw/ :i8) “These are: as a demonstrative pronoun
which was wrong. The correct response was supposed to be, (/i :/d8) “These
as the subject of a nominal sentence” and (JeU :oLit9 "winners as subject"
instead of (/+iwal/ _w3) “The predicate”. This poor performance shows that these
candidates did not have sufficient knowledge on analysing words in sentences.
Extract 4.1 shows a sample of poor response.

Extract 4.1
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Extract 4.1: Shows a sample of a poor response from a script of the candidate who
provided irrelevant answers in all items.

Further analysis of candidates’ responses showed that the candidates who
performed well in this question were able to analyse the underlined words
provided and mention their signs of inflection as required. In item (4-a), for
example, one of the candidates analysed this sentence, (s <€) “He is
writing the letter” as ( od/ Ao Sl dads 42d) dadley £ 380 £ olaa Jad 1ol
Jial) i #dl) Jae 4 Liledl dlaad(g) “Is writing”: is the present tense in the

14



nominative case with the sign of vowel (<ea) “Dhammatu” and (<) “The
letter” is the object in the accusative case with the sign of vowel (4x%f) and the
verbal sentence is in the place of a nominative case is predicate of the subject.
This good performance indicates that, the candidates had adequate knowledge
on inflection and its signs. The correct responses for this question are shown in

Extract

4.2.

Extract 4.2
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Extract 4 2 A sample of a good response from a scrlpt of the candidate who

analysed the underlined phrases given and identified their signs of inflection as
required.
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2.2.4 Question 5: Accusative Particles

This question had five items and the candidates were required to put one of the
accusative particles (&s[s &) in the given sentences and make necessary
changes which will happen after using them. The question tested the
candidates’ ability on the uses of the principle of the accusative particles ( &/
l¢153/9) in sentence.

5- a) The hard working candidates will pass the examination.
b) The teachers are faithful in their work.
¢) The man is brave.
d) The scholar is beloved in his community.
e) Teachers are staying up at night.

The question was attempted by 12,136 (100%) candidates. The performance
was poor because 11,337 (93.4%) candidates scored from 0 to 1 mark. Also, a
total of 585 (4.8%) candidates scored from 1.5 to 3 marks and 214 (1.8%)
candidates scored from 3.5 to 5 marks. The candidates’ performance in
question 5 is summarized in Figure 5.
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Figure 5: The Percentages of the Candidates’ Performance in Question 5.

Majority of the candidates who performed poorly in this question were unable
to provide the appropriate responses in items (5-a, b, d and e). These candidates
failed to make necessary changes of the subject of a nominal sentence which is
in the form of dual form, plural form and five names with special case after

16



entering the accusative particles (&=/s3/s ). Some of them left the sentences
without making any change. Other candidates changed them with inappropriate
signs. In item (5-a), for example, one of the candidates wrote, ( ity
Olaiayl 4 paaiy Elugiaal) “The hard working candidates will pass the
examination”. This candidate was able to change the sentence but with
inappropriate sign which is a vowel (4i</) instead of a vowel (5. In
another item (5-e), for example, one of the candidates wrote, ( Jbetall &/
cssla) “Teachers are staying up at night”. This candidate was able to change
the sentence but with inappropriate sign which is a vowel (42i) instead of a
letter (sL) after using accusative particles (L&i#3/s &). The correct answer was
supposed to be, (curslw cuwitedl o) “Teachers are staying up at night”. Extract
5.1 shows a sample of incorrect response.

Extract 5.1
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Extract 5.1: A sample of a poor response from a script of the candidate who failed
to change the given sentences after using accusative particles (&s3/s ).

However, there were few candidates who performed well in this question.
These candidates were able to change sentences as required by using accusative
particles (&isi[s &) appropriately. In item (5-d), for example, one of the
candidates wrote, (4eadas 4 cigaa alell 1i G) “The scholar is beloved in his
community.” This candidate was able to change the word with letter sign (J-§
“Al-wawu” into letter sign () “Alifu”. This good performance implies that, the
candidates had sufficient knowledge on the principle of the accusative particles
(5] &), Extract 5.2 is a sample of a good response by a candidate who
scored high marks.
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Extract 5.2
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changed aII the sentences accordingly after inserting accusative particles ( ¢/

sy,

2.2.5 Question 6: Subject of the Passive Voice

This question had five items and the candidates were required to fill the
suitable subject of the passive in the blanks together with its signs. The
question tested the candidates' ability on the use of subject of the passive in

sentences.

is thanked for his kindness.
is picked from the garden.
is written in the paper.

is put in the tea.

IS spent in charity.

The question was attempted by 12,132 (100%) candidates. Among these, only
507 (4.2%) candidates scored from 3.5 to 5 marks, which is a good
performance. A total of 3625 (29.9%) candidates scored from 1.5 to 3 marks,
which is an average performance. Also, 8000 (65.9%) candidates scored from 0
to 1 mark, which is a weak performance. The general performance of the
candidates in this question was therefore weak, since only 4.2 percent scored
from 3.5 to 5 marks. Figure 6 summarizes the distribution of the candidates’
scores in Question 6.
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Figure 6: The Percentages of the Candidates’ Performance in Question 6.

Scripts of candidates’ responses revealed that the candidates who performed
poorly in this question were unable to provide the suitable subject of the
passive voice and could not change the active voice into passive voice. In item
(6-d), for example, one of the candidates wrote, (L&l 4 e £l 4) “The child
is put in the tea. This candidate was able to change the active voice into passive
voice correctly but failed to provide the relevant substitute actor in the
sentence. In item (6-a), for example, one of the candidates wrote, ( Seall P&
4ilwa) &) “The teacher thanks for his kindness”. This candidate was able to
provide a suitable substitute actor but failed to change the active voice into
passive voice. Some of the candidates provided answers which were not related
to the demand of the question. For example, one of the candidates wrote the
preposition instead of the subject of the passive voice. This poor performance
shows that, these candidates had insufficient knowledge on the Arabic
grammar. Extract 6.1 shows a sample of a poor response.
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Extract 6.1
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Extract 6.1: Shows a sample of a poor response from a script of the candidate
who wrote a relative pronoun, preposition and pronoun in item (6-a, b and e)
respectively instead of the substitute actor.

However, there were a few candidates who performed well in this question.
These candidates were able to provide the suitable subject of the passive voice
and could change the active voice into passive voice accordingly. In item (4-b),
for example, one of the candidates wrote, (4wl 4 5 _iff ki) “The flower is
picked from the garden”. This good performance suggests that, this candidate
had sufficient knowledge on the Arabic grammar. Extract 6.2 shows a sample
of a good response.

Extract 6.2

s(‘\qé

r‘LJ(_\\\‘ﬁ \\Al\ w A_‘.ﬁ \ J &@5

Extract 6.2: Shows a sample of a good response from a script of the candldate who
was able to provide the suitable subject of the passive voice and could change the
active voice into passive voice correctly.
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2.2.6 Question 7: Meaningful Sentences

This question required the candidates to read the passage and identify five
meaningful sentences with adverb of manner. This question tested the ability of
candidates in organising sentences in grammatical order.

7- The passage

The father entered on Eddy day carrying some precious gifts for his children.
When his son Hashim saw him, he quickly went to receive him and looked at
his hand in delight. Then he took gifts from him and placed them on the table
accordingly. Then he summoned his brothers and sat down together with their
father and mother telling them a nice story. Then he distributed the gifts to
them with a joyful smile and each of them took his gift happy and thankful.

The question was attempted by 12,132 (100%) candidates. Statistics show that
7,922 (65.3%) candidates scored from 0 to 1 mark. Also, a total of 2,548
(21.0%) candidates scored from 1.5 to 3 marks and 1,662 (13.7%) candidates
scored from 3.5 to 5 marks. This implies that the candidates’ performance in
this question was poor. The candidates’ performance in this question is
summarized in Figure 7.

70 65.3
60 -
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Percentage of Candidates

13.7
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1.5-3 35-5
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Figure 7: The Percentages of the Candidates’ Performance in Question 7.

The candidates who scored low marks in this question were unable to identify
five meaningful sentences with adverbs of manner. Some of them did not
understand what was written in the passage; instead they repeated all the
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passage. Other candidates did not understand the demands of the question;
instead they picked adverbs of manner only from meaningful sentences. A few
of them were confused with this sentence ( a4/ agiday [suda g 4l gd/) o Lica) T
Libt s agsf9) “Then he summoned his brothers and sat down together with
their father and mother telling them a nice story”; which does not has any
adverb of manner. This shows that, the candidates had insufficient vocabulary
in Arabic Language. Extract 7.1 is an example of a wrong response provided

by one of these candidates.

Extract 7.1
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Extract 7.1 A sample of a poor response from a script of the candidate who
repeated all the passage due to a poor understanding.

However, there were few candidates who were able to identify five meaningful
sentences with adverbs of manner. For example, one of the candidates wrote,

LS Llagl) agale £ g -0 02¥9Y dundill Liigl) pimy oy (A dals sl 3 ¥ J3I -)
JS 52 g a0 A Lo ) SBT3 A pa briaial) o lgid gy Llgl) 4da 38T | Lacidie
(LSl gl 458 agie  “1- The father entered on feast day carrying some
precious gifts for his children. 2- Then he distributed the gifts to them with a
joyful smile. 3- Then he took gifts from him and placed them on the table
accordingly. 4- And he looked at his hand in delight. 5- Each of them took his
gift happy and thankful”. This good performance shows that the candidates had
adequate vocabulary in the Arabic Language. Extract 7.2 indicates a sample of
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a response from the candidate who was able to identify meaningful sentences
with adverb of manner.
Extract 7.2
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Extract 7.2: A sample of a good response from a script of the candidate who was
able to identify all five meaningful sentences with adverb of manner.

2.2.7 Question 8: Feminine Gender

The question had five items and the candidates were required to change the
underlined words into feminine gender and make necessary change according
to given sentences. This question tested the candidates' ability on the use of
nouns with feminine gender in sentences.

8-a) The doctor advised the patient.
b) The teacher travelled to Mwanza.
c) The man wore the dress.
d) The guest came early.
c) The candidate wrote with a pen.

The question was attempted by 12,054 (99.3%) candidates. Data analysis
shows that 9,953 (82.6%) candidates scored from 0 to 1 mark and 1,740
(14.4%) candidates scored from 1.5 to 3 marks. Similarly, 361 (3.0%)
candidates scored from 3.5 to 5 marks. The general performance was poor
since a large number of candidates scored below average as summarized in
Figure 8.
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Figure 8: The Percentages of the Candidates’ Performance in Question 8.

Most of the candidates who performed poorly in this question were able to
change the underlined words into feminine gender but they could not make
necessary changes needed after using the feminine gender. In item (8-a), for
example, one of the candidates wrote, (sl L/hY i) “The woman candidate
wrote with a pen”. The correct answer was supposed to be, (alily bl i)
“The woman candidate wrote with a pen” whereby the verb should be ended
with letter (¢&%) “Tau”. Some of them failed to change the underlined word
() “The man” into feminine gender (3/s/) “The woman™; instead they
changed into (<) “The girl”. In item (8-c), for example, one of the candidates
changed this sentence like this; (¢ Ja/ o« “The man wore the dress” into
(el «ddl s “The girl wore the dress” which was wrong. The correct
answer was supposed to be; (s ée_sall cuwsh) “The woman wore the dress”. A
few candidates provided answers which were not related to the requirement of
the question. For example, one of the candidates changed all the underlined
words into feminine plural form instead of singular form as demanded. This
poor performance shows that, these candidates were not familiar with the
feminine gender. Extract 8.1 shows a sample of a poor response.
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Extract 8.1
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Extract 8.1: A sample of a poor response from the candidate who changed all the
sentences into a dual form instead of a feminine gender.

On the other hand, the candidates who performed well in this question were
able to change the underlined words into feminine gender and make changes
according to the sentence given as required. In item (8-a), for example, one of
the candidates who performed well in this question wrote the correct answer as
follows: (vl Lwhl caw) “The woman doctor advised the patient”. This
good performance implies that, this candidate had enough knowledge on rules
of using feminine gender in the sentence. Extract 8.2 illustrates a sample of a

good response.

Extract 8.2
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Extract 8.2: Shows a sample of a good response from a script of the candidate who
changed all the underlined words into feminine gender correctly.
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2.3

2.3.1

SECTION C: Composition

This section had three questions: one on the letter writing, the second on article
writing and third on Essay writing. The candidates were required to attempt
only one question. Each question carried twenty (20) marks.

Question 9: Letter Writing

The candidates were required to write an official letter to the Minister of
Finance asking him to increase the salary. The question tested the candidates’
ability to write an official letter as well as to express their thoughts fluently,
logically and appropriately in the Arabic Language.

The question was attempted by 8264 (68.1%) candidates. Item analysis shows
that 7498 (90.7%) candidates scored from O to 5.5 marks, 730 (8.9%)
candidates scored from 6 to 12.5 marks and only 36 (0.4%) candidates scored
from 13 to 16 marks. The candidates’ performance in this question was poor
since a large number of candidates scored below average.
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Figure 9: The Percentages of the Candidates’ Performance in Question 9.

In this question, the candidates who performed poorly were unable to write an
official letter to the Minister of Finance asking him to increase the salary. Most
of them failed to write the main body of the letter instead they repeated the
question. Some of them just copied some words from the passage and used
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them as the answer. Others provided answers which were not related to the
demand of the question. For example, one of the candidates wrote self-
introduction for asking a job. A few of them provided unclear explanations.
This poor performance of the candidates shows that, these candidates had
inadequate knowledge in letter writing and poor mastery of the Arabic
Language. Extracts 9.1a and 1b show samples of such poor responses.

Extract 9.1a
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Extract 9.1a: Shows a sample of a poor response from a script of the candidate
who repeated the question as the answer.
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Extract 9.1b
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Extract 9.1b: Shows a sample of a poor response from a script of the candidate
who provided unclear explanations in the main body of the letter.

However, there were few candidates who performed well. These candidates
were able to write an official letter to the Minister of Finance asking him to
increase the salary and adhered to the principles of formal letter writing in the
Arabic Language. For example, one of the candidates wrote, ( L/ 5 uas U
Ly JaT Y Siad aSadls Al sl el 3L sy Gy 1ib pdhe Ael) g
gy Laa pld Gualy Ad] puan o aild 4] o At 4iisar S jla g4 5 s EOU Lo
Al j b gl Ll pa bl e aSUlses L)y culbal] Jigy aSadls pla ty, cpibigall guen AL
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JudYlg dd ) olgy A ey Jle) “The honorable Minister of Finance, | am
zaydan bin Saydi, has the honor to present to you that, he is your servant for
period of not less than three years, and is still at the current rank of salary,
although he is doing all his work at the best of what is witnessed by all
employees. Your servant came to this request and asked you to increase his
salary like his collogues who are still praying for you”. This good performance
of the candidates on letter writing shows that, these candidates had adequate
knowledge on letter writing and a good command of the Arabic Language.
Extract 9.2 shows a sample of a good response.

Extract 9.2
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Extract 9.2: Shows a sample of a good response from a script of the candidate who
was able to write the formal letter asking Minister to increase the salary as
required.
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2.3.2 Question 10: Article Writing

The candidates were required to write an article on the effect of bribery in
society. The question tested the candidate’s ability to write and express
themselves in the Arabic Language.

The question was attempted by 164 (1.4%) candidates. 2 (1.2%) candidates
scored from 14 out of 20 marks, 10 (6.1%) candidates scored from 6.5 to 12.5
marks and 152 (92.7%) candidates scored from 0 to 5.5 marks. This shows that
the candidates’ performance in this question was poor, as seen in Figure 10.
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Figure 10: The Percentages of the Candidates’ Performance in Question 10.

Most of the candidates skipped this question due to lack of enough knowledge,
insufficient vocabulary and poor mastery of the Arabic Language. Most of the
candidates who performed poorly in this question wrote unclear descriptions.
Some of them just copied words or passage and put them as answers and a few
of them wrote inadequate descriptions. This poor performance shows that,
these candidates lacked enough vocabulary and skills in expressing themselves
in Arabic Language concerning the effect of bribery in society. Extracts 10.1a
and 1b show samples of candidates who performed poorly in this question.
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Extract 10.1a
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Extract 10.1a: Shows a sample of a response from a script of the candidate who

provided insufficient explanation with a lot of spelling mistakes and grammatical
errors.
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Extract 10.1b
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Extract 10.1b: Shows a sample of a poor response from a script of the candidate
who just copied some words from the passage and regarded them as answers.

However, there were few candidates who performed well in this question.
These candidates were able to explain the effect of bribery in the society as the
question demanded. For example, one of the candidates wrote, ( 44l 4 &7 5 s o/
paaa A Gall a4 gdiludyl aseg) “Bribery increases the poverty and
inhumanity in society, it considered also as the enemy of rights and progress”
Moreover, they could arrange their thoughts in a good flow, although their
responses had some spelling mistakes and grammatical errors. This implies that
these candidates had sufficient vocabulary in Arabic Language. Extract 10.2:
Shows a sample of a good response.

Extract 10.2
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Extract 10.2: Shows a sample of a response from a script of the candidate who was
able to explain the effect of bribery in the society but his/her response had some
spelling mistakes .
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2.3.3 Question 11: Essay Writing

The candidates were required to write an essay on the Importance of Peasant in
the country. This question tested the candidates’ ability to write and express
themselves logically and fluently in the Arabic Language.

The question was attempted by 190 (1.6%) candidates. The general
performance of the candidates in this question was poor taking into
consideration that 155 (81.6%) candidates scored from 0 to 5.5 marks.
However, 30 (15.8%) candidates scored from 6 to 12 marks and only 5 (2.6%)
candidates scored from 13 to 15 marks out of 20 marks allocated to this
question. The performance of candidates in this question is summarized in
Figure 11.
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Figure 11: The Percentages of the Candidates’ Performance in Question 11.

According to the analysis of the candidates’ responses, most of the candidates
skipped this question and for those who attempted this question, majority of them
copied some words or passage and put them as answers. Others provided
insufficient explanation on the "Importance of Peasantry in the country”. Some of
them provided unclear explanation. A few of them left the question unanswered.
This poor performance shows that these candidates lacked enough knowledge and
insufficient vocabulary in the Arabic Language. Extracts: 11.1a and 1b show
samples of such poor responses.
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Extract 11.1a
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Extract 11 la: Shows a sample of a response from a scrlpt of the candidate who
provided insufficient explanation due to inadequate vocabulary of the Arabic
Language.

Extract 11.1b
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Extract 11.1b: Shows a sample of a response from a script of the candidate who

provided unclear explanation due to poor command of the Arabic Language.
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However, there were few candidates who performed well in this question.
These candidates were able to organize and elaborate their points well and
logically as the question demanded, although their explanation had some
spelling mistakes and grammatical errors. For example, one of the candidates
Wrote;( cx L_p g 45/ sdlly g uallS alabsl] adtig jl £ sl (o Glewd) Sl iy £l jall
Liro gl o glll) S (g e @0 o 9y LaSy «Luilitl) daxk¥)) “The farmer saves the
life of people from hunger by providing them foods, vegetables and fruits as
well as increases the national income of the specific country. Extract 11.2
shows a sample of a good response of the candidate.

Extract 11.2
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Extract 11.2: Shows a sample of a response from a script of the candidate who was
able to explain and elaborate his/her concept on the "Importance of Peasant in the
country".
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2.4

24.1

SECTION D: Response to Readings

This section had three questions but the candidates were required to answer
only one question. The questions based on the story of the Tortoise and Rabbit,
the Kingdom of Bee and the Lazy Rat. Each question carried twenty (20)
marks.

Question 12: The Tortoise and Rabbit

The candidates were required to prove through the story they read the saying;
“the cunning Tortoise”. This question tested the candidates' ability in applying
their thoughts, building capacity to convince and express themselves in the
Arabic Language.

The question was attempted by 4392 (36.2%) candidates. The analysis shows
that, 2646 (60.2%) candidates scored from 0 to 5.5 marks, 1667 (38.0%)
candidates scored from 6 to 12.5 marks and only 79 (1.8%) candidates scored
from 13 to 16 marks out of 20 marks allocated to this question. The general
performance in this question was poor since a large number of candidates
scored below average. The performance of candidates in this question is
summarized in Figure 12.

70 ~

60.2

60 ~

50 +

10 - 38.0

30 +

20

Percentage of Candidates

10 ~
1.8

6-12.5 13 -16
Scores

Figure 12: The Percentages of the Candidates’ Performance in Question 12.

According to the analysis of the candidates’ responses, the candidates who
performed poorly in this question were not able to prove the statement given
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which says; “the cunning Tortoise” through what they read from the book ‘The
Tortoise and Rabbit’. The majority of candidates provided unclear explanation.
Some of them just copied some of the paragraphs from the passage and use
them as response to the question. Other candidates just narrated the story as it
Is without proving the saying given. Also, their responses had a lot of spelling
mistakes and grammatical errors. This poor performance shows that, these
candidates lacked knowledge on reading the book and had poor mastery of the
Arabic language. Extracts 12.1a and 1b show samples of such poor responses.

Extract 12.1a
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Extract 12.1a: Shows a sample of a response from a script of the candidate who
narrated the story with a lot of spelling mistakes and grammatical errors due to
poor mastery of the Arabic Language.
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Extract 12.1b
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Extract 12.1b: Shows a sample of a response from a script of the candidate who
provided unclear explanation due to poor command of the Arabic Language.

The candidates who performed well in this question were able to explain and
prove the statement given which says; the cunning Tortoise through what they
read from the story of the Tortoise and Rabbit”. For example, one among the
candidates explained tricks and plans that Tortoise used to win the race. The
Tortoise decided to go to her sister to convince her to form teamwork in order
to compete with the Rabbit and end the Rabbit’s humiliation on Tortoise due to
its slow movements. This good performance shows that these candidates had
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sufficient knowledge on the story of "the Tortoise and Rabbit™" as well as good
mastery of the Arabic Language. Extract 12.2 shows a sample of a good
response.

The Extract 12.2
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Extract 12.2: Shows a sample of a response from a script of the candidate who
proved the statement given which says; the cunning Tortoise through what they
read from the story of the Tortoise and Rabbit as required.

2.4.2 Question 13: The Kingdom of Bee

The candidates were required to clarify the statement that says; the hand of
God with the congregation by using the story of the Kingdom of Bee. This
question tested the candidates' ability to build capacity of defending their
arguments as well as expressing themselves in the Arabic Language.

The question was attempted by 2471 (20.4%) candidates. The general
performance of the candidates in this question was poor because 1815 (73.5%)
candidates scored from 0 to 5.5 marks. A total of 634 (25.6%) candidates
scored from 6 to 12.5 marks and only 22 (0.9%) candidates scored from 13 to
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16 marks out of 20 marks allocated to this question. The performance of
candidates in this question is summarized in Figure 13.

80 1 73.5
70 A

60 |
50
40 A

30 ~ 25.6

20 +

Percentage of Candidates

10 +

0.9

0 I T T 1
0-5.5 6-12.5 13 -16

Scores

Figure 13: The Percentages of the Candidates’ Performance in Question 13.

Most of the candidates who attempted this question performed poorly. These
candidates were unable to clarify the statement that says; the hand of God with
the congregation by using the story of the kingdom of Bee. Majority of the
candidates provided unclear explanations. Some of them copied some
paragraphs of passage from question paper. Others narrated the story of the
Kingdom of Bee as it is without giving any clarification of the statement given
according to what they read on the story of the Kingdom of Bee. This poor
performance shows that these candidates lacked enough knowledge on the
story of “the Kingdom of Bee” as well as enough vocabulary of the Arabic
Language. Extracts 13.1a and 1b show samples of such poor responses.
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Extract 13.1a
2| b =os @53 '_\\3\?- AR GRI QN fh,of

o=

u\k&.ﬂ\.} %Jl_'xj\\_?‘ '7:.)(_ (?— d,.'_l_‘g:g
/ "
U'L‘t_: Tall ufs& —%Lw) _ q\jq‘__:,: C;;»Jl

2D\ So 5. A2 s\ W ety 15k

Sl malles U \\;_u_.‘\ P SN
FALSN LM RSN TS _w*
SRR TSI S Bl rines &
; 3| L"“?-j,_;,aj;—_, RS \g) 4 Loal) o)
sdsie etz FTEL D] Sl

g(l,bj &;\Waa\)—ea&%‘. J%;é‘%‘lkﬁv.\

\m\ms_tj_n_...a\l A\\f&J\ ‘*_-M‘L_,&}\ \—D:J

mﬁzm_&\{&ﬁ ETREOIAW b 35

Lsd m\@&d\u KLJ? 7—5‘3’1'1%(
N T STEN I

Extract 13.1a: Shows a sample of a response from a script of the candidate who
provided unclear descriptions due to poor mastery of the Arabic Language.

44



Extract 13.1b

e 117 5]
‘ O 1.
a//,L;v:E\ol;(a NP _QQ,L,«JJM mmp I3
T -

EZICAIEAY 2N AN PR

Jood e ed it marp 550 nS
~+ 9 l@f}&d@@)! D\ s (O
Leuoos - Jodal ™l |os Lol oo C s
AWEN PR CLL:»\,Jmfaf}a Tyt v (i)
oo dﬁ'ﬁ oS U leaass Plesioolds
jfufw_t}rLLklﬁ_)l ppiumbchws
CZJ\-R_/J Sl DJ Jeel Hloory\as

S ya) PW\,EK)\L\)% IV oo 3 e o

CU‘L.\:“,C[J {o:};u\ﬂ d\m

Extract 13.1b: Shows a sample of a response from a script of the candidate who
narrated the story instead of clarifying the saying given. Moreover, the
candidate’s responses had a lot of spelling mistakes and grammatical errors due
to poor mastery of the Arabic Language.

However, there were few candidates who performed well in this question.
These candidates were able to provide appropriate clarifications of the given
statement by showing the effectiveness of unity and the negative of division.
Moreover, they organized their points in a logical flow and also followed most
of principles and ethics of essay writing. However, there were some spelling
and grammatical errors in their responses. This good performance implies that
the candidates had sufficient knowledge on the story of the Kingdom of Bee

and good mastery of the Arabic Language. Extract 13.2 shows a sample of a
good response.
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Extract 13.2
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Extrract 13.2: Shows a sample of a response from a script of the candidate who was
able to clarify the given statement that the hand of God with the congregation with

sufficient descriptions.
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2.4.3 Question 14: The Lazy Rat

In this question, the candidates were required to clarify the given statement
which says that the laziness its end is dire according to what they read from the
story of the Lazy Rat. The question tested the candidates’ ability to apply their
thoughts and build capacity of convincing as well as expressing themselves in
the Arabic Language.

The question was attempted by 1447 (11.9%) candidates. The general
performance of the candidates in this question was poor taking into
consideration that 972 (67.2%) candidates scored from 0 to 5.5 marks.
Statistics also showed that 457 (31.6%) candidates scored from 6 to 12.5 marks
and only 18 (1.2%) candidates scored from 13 to 16 marks out of 20 marks
allocated to this question. The performance of candidates in this question is
summarized in Figure 14.

70 67.2

60 ~

50 +

Percentage of Candidates
B
<

1.2

0-5.5 6-12.5 13 -16
Scores

Figure 14: The Percentages of the Candidates’ Performance in Question 14.

The analysis of the candidates’ responses indicates that, the candidates who
performed poorly in this question were unable to meet the requirements of the
question due to poor command of Arabic Language. They were required to
interpret the statement which says; the laziness its end is dire according to what
they read from the story of the Lazy Rat. Majority of candidates provided
unclear explanation. Some of them just copied words from the passage and
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questions and used them as responses. For example, one of the candidates
copied the passage from the question 7 which says; (¢ #1331 el el 4 ¥/ Jio
vl oty 4 oY 9¥ Luwdifl ) “The father entered on feast day carrying some
precious gifts for his children”. Other candidates just narrated the story as it is
without interpreting the statement given. Furthermore, their responses had a lot
of spelling mistakes and grammatical errors. This poor performance shows
that, these candidates did not have enough knowledge on the story of the Lazy
Rat and had poor mastery of the Arabic Language. Extracts 14.1a and 1b show
samples of such poor responses.

Extract 14.1a
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Extract 14.1a: Shows a sample of a response from a script of the candidate who
copied some words from the passage and put them as the answer.
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Extract 14.1b
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Extract 14.1b: Shows a sample of a response from a script of the candidate
who provided insufficient description instead he/she repeated the same words
for each paragraph due to lack of enough knowledge on the story of Lazy
Rat.

On the other hand, there were some few candidates who performed well in this
guestion. These candidates were able to interpret and reflect the statement that
the laziness its end is dire to the daily life according to what they read from the
story of the Lazy Rat as required. For example, one of the candidates wrote,
“Lack of desire to work and love of comfort without exerting that led the lazy

Rat to the end of disastrous and almost starve to death”. Furthermore, they
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could organize their points in a good flow, starting with introduction, main
body and conclusion. However, their responses had some grammatical errors
and spelling mistakes. This good performance indicates that they had enough
knowledge on the story of the Lazy Rat as well as good mastery of the Arabic

Language. Extract 14.2 shows a sample of a good response.

Extract 14.2
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Extract 14.2: Shows a sample of a response from a script of the candidate who was
able to interpret and reflect the statement provided to the daily life according to
what he/she read from the story of the Lazy Rat.

ANALYSIS OF CANDIDATES’ PERFORMANCE IN EACH TOPIC

The analysis of candidates’ responses in each topic shows that candidates had
good performance in Comprehension (65.4%). These candidates performed
well because they had adequate skills in reading for comprehension.
Candidates had average performance in Response to readings (33.03%). This is
because they had adequate knowledge on stories; the Lazy Rate, Kingdom of
Bee, the Tortoise and Rabbit. Candidates had poor performance in Composition
(11.66%) because they lacked adequate vocabulary and had no skills in letter
writing to express themselves well in Arabic Language. Furthermore,
candidates had poor performance in Grammar (22.64%). These candidates
performed poorly in the following sub topics: subject, meaningful sentences,
nominal sentences, inflection, feminine gender and subject of the passive voice
because they had inadequate knowledge and rules related to topics.

CONCLUSION

The general performance of candidates in Arabic Language in the CSEE 2018
was average. This average performance was attributed to having good skills in
reading for comprehension and ability to identify the requirements of the
questions.
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5.0

The analysis of candidates’ performance in topics of Comprehension, Response
to readings and Composition in the year 2018 increased by (11.12%), (12.12%)
and (5.33%) respectively compared to their performance in 2017. Candidates’
performance has decreased by (6.10%) in Grammar in 2018 compared to their
performance in 2017.

RECOMMENDATIONS

In order to improve performance of candidates in future the following
recommendations are presented:

(a) Teachers should provide Arabic texts to candidates with guiding questions
to strengthen their ability of listening and answering questions in groups
and individually.

(b) Teachers should guide candidates to study a given text with grammar,
identify it and practise by giving examples.

(c) Teachers should guide candidates to identify inflections, verbs and analyse
sentences from selected texts in groups and individually.

(d) Teacher should guide candidates to select topics of letter writing or
composition and write the first draft in pairs or groups focusing on the

content of the topics, correct spelling mistakes and grammatical errors.

(e) Teachers should guide candidates to express their daily routine and past
events using simple sentences to enable them express in Arabic Language.
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Appendix A

Summary of Candidates’ Performance in Each Topic by Year

S/N

Topic

Total
number
of
guestions

2017 2018
The The
percentage percentage
of of
candidates candidates
who Remarks who Remarks
scored 30 scored 30
marks marks
and/or and/or
above above
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